26 In the diagram below of circle O with diameter BC and radius OA, chord DC is parallel to
chord BA.

C

If mZBCD = 30°, determine and state mZAOB.
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27 Directed line segment PT has endpoints whose coordinates are P(—2,1) and T(4,7).
Determine the coordinates of point | that divides the segment in the ratio 2 to 1.

[The use of the set of axes below is optional. ]

A
Y
x
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28 As graphed on the set of axes below, AA’B'C’ is the image of AABC after a sequence of
transformations.

>
>

CI

Y

Is AA’B'C’ congruent to AABC? Use the properties of rigid motion to explain your answer.
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29 A carpenter leans an extension ladder against a house to reach the bottom of a window 30 feet
above the ground. As shown in the diagram below, the ladder makes a 70° angle with the ground.
To the nearest foot, determine and state the length of the ladder.

—

30 ft

70° [
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30 During an experiment, the same type of bacteria is grown in two petri dishes. Petri dish A has a
diameter of 51 mm and has approximately 40,000 bacteria after 1 hour. Petri dish B has a diameter
of 75 mm and has approximately 72,000 bacteria after 1 hour.

B
A
o

F——31Tmm——+ b——75mm—7m——|

Determine and state which petri dish has the greater population density of bacteria at the end of
the first hour.
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